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�	�

�� ������	
����
�
x +1

g(x) =
2

�∀�∈�����������	��	�������	��	��������	
�����

��
2

1
f (x)

6x x 5
=

− −

��������������
����������������� ��������	
�����

��
1 2 3

A =
3 2 1

⎡ ⎤
⎢ ⎥
⎣ ⎦

�
�
3 2 1

B =
1 2 3

⎡ ⎤
⎢ ⎥
⎣ ⎦


�������������������	
������������
2 0 1 1 1 0

A = , B =
1 1 5 0 1 2

−⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥− −⎣ ⎦ ⎣ ⎦

���������	����������	
�����

�� �OA = i + j + k, AB = 3 i 2 j + k,− BC = i + 2 j 2k,− CD = 2 i + j + 3k �������� OD ��!�"�������	
�����

�� a =2i +4j 5k, b = i + j +k, c = j +2k− ���� a + b + c ��#�$���%&����!�"'(�����)*���!�"�����	
�����

�� �����������	�+,�-��.�	/�,01�234����
�������
	���!�"#�$��,5,	6�7,0��4��,���8����9:,�����	
�����

�� ���θ

1

3
− �����θ�;��2<�-,'(�7,0=�-������>0=�����θ �����θ��?��������	
�����

�� −
o o

2 21 1
sin 82 sin 22

2 2
�������	
������������������
� ��������	��������	���@�������	��������	�?����������	
�����

� � � � � � � � *
��� ��
���#$+
,-�.#/��0�1'������������������� ��!�"������������#$%&'�()2 ����������	

��� ���
1 2 1

A = 0 1 1

3 1 1

−⎡ ⎤
⎢ ⎥−⎢ ⎥
⎢ ⎥−⎣ ⎦

��������−���−�����?��������	
�����AB��C0=���D���;���4��9	/%�����)*����%��E

��� 2a + 3b c, 3a + 4b 2c− − ��F��+,�-��.������GH�����9I"&�J���@���� a 2b + 3c, a 6b + 6c− − �F��+,�-��.������GH�
���9I"&�J��J,0=��+,�-��.�������	
�����

�� a = 2 i + 3 j + 4k, b = i + j k, c = i j + k− − ������ax(bxc) ����	/:�,K�������@�����!�a �#�$��,5,	6�7,L�,�-�

��@K��0=���� �������
3 7 9 1

1 cos 1 cos 1 cos 1 cos
10 10 10 10 16

π π π π⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞+ + + + =⎜ ⎟⎜ ⎟⎜ ⎟⎜ ⎟⎝ ⎠⎝ ⎠⎝ ⎠⎝ ⎠
���K����,0M�

��� !����θ"#����θ
����#�$�θ�
θ�����N<�O-F���� 1 2tan tanθ ≠ θ P�!�"���≠ 0����4����	�!�θ1+�!�θ2 ���	�!�θ1.�!�θ2

?�����������QC,0M
��� -1 -1 -13 8 36

Sin +Sin = Cos
5 17 85

�����9��R,K�,0M�������Δ��$'(
1 1 3

+ =
a+c b+c a+b+c

�����4��$
�%&����K����,0M�

� � � � � � � � � 3
���������
���#$+
,-�.#/��0�1'�4567������������� ��!�"������������#$%&'�()2 �����
�����

��� �'�→��!S	/�:����
�����,P��

��������
�����8��-�4�4�T������
�����'UV4����	�����−��������	���−�����
������9��R,K�,0M�

��� 	/:�4���	/�������-W%��7���X�Y,Z����%��∈(�#�$� ( )22

3 5 7 2n +1
1+ 1+ 1+ ............ 1+ = n +1

1 4 9 n

⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞
⎜ ⎟⎜ ⎟⎜ ⎟ ⎜ ⎟⎝ ⎠⎝ ⎠⎝ ⎠ ⎝ ⎠

��9�[�.�K����,0M�

�%� � 3
a + b + 2c a b

c b + c + 2a b = 2(a + b + c)

c a c + a + 2b

�����9��R,K�,0M�

��� ����"�)*�"��+�
���
������*�"��+�
���
�������*�"��+�
��%������%���?'(�����-W%��N<!O,K�����

��� �
��
��
��	
��
�)
%
��	
�$
��
�
��	
�,
��
�)
��	������ AB 
� CD � ���O-�����\�]��-��9,�����	
�����

��� ��
�
$�����% Ô_�`,��X���C��Q:a'UV�
A B C

cosA +cosB cosC = 1+ 4cos .cos .sin
2 2 2

− − ���K����,0M�

�)�
2 2 2

2 2 2 2 2
1 2 3

1 1 1 1 a + b + c
+ + + =

r r r r
����K����,0M�
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��������	
��
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���������

��������	

�� ��
�������������
2

1x
g(x)

+= ��589/� ���� �������������� ����������'� ���'�:;�()2

�� ��� ��������	
	�������	
	�����
�	 x
2

x2

2

1)1x2( ==+−=

���� ��������
�������

x 1 x 1

f 2 1 x 1 1 x
2 2

+ +⎛ ⎞⎛ ⎞ = − = + − =⎜ ⎟ ⎜ ⎟⎝ ⎠ ⎝ ⎠

�������������������������������������������������������������������������

�� �
2

1
f (x)

6x x 5
=

− −
	� ������� �	
��
���� �����������

�� ��������	����	
��
���������		�������≠�

⇒ −(��������≠�⇒ −(��
�	�����≠�	⇒ �≠
��

��	��������		�	�	�
���

�������������������������������������������������������������������������

�� ⎡ ⎤
⎢ ⎥
⎣ ⎦

1 2 3
A =

3 2 1
�

⎡ ⎤
⎢ ⎥
⎣ ⎦

3 2 1
B =

1 2 3
� � � �� �������� ����	
�����

�� ���������	�����	
3 2 1

B =
1 2 3

⎡ ⎤
⎢ ⎥
⎣ ⎦

�
1 2 3

A =
3 2 1

⎡ ⎤
⎢ ⎥
⎣ ⎦

�
3 2 1 1 2 3

3B 2A 3 2
1 2 3 3 2 1

⎡ ⎤ ⎡ ⎤
− = −⎢ ⎥ ⎢ ⎥

⎣ ⎦ ⎣ ⎦

9 6 3 2 4 6

3 6 9 6 4 2

⎡ ⎤ ⎡ ⎤
= −⎢ ⎥ ⎢ ⎥

⎣ ⎦ ⎣ ⎦

9 2 6 4 3 6

3 6 6 4 9 2

− − −⎡ ⎤
= ⎢ ⎥− − −⎣ ⎦

7 2 3

3 2 7

−⎡ ⎤
= ⎢ ⎥−⎣ ⎦
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��
⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥
⎣ ⎦ ⎣ ⎦

2 0 1 -1 1 0
A = , B =

-1 1 5 0 1 -2
������������� ��������������

�� ���
2 3

3 2

1 0
2 0 1

1 1
1 1 5

0 2×
×

−⎡ ⎤
⎡ ⎤ ⎢ ⎥= ⎢ ⎥ ⎢ ⎥−⎣ ⎦ ⎢ ⎥−⎣ ⎦ 2 2

2( 1) 0(1) 1(0) 2(0) 0(1) 1( 2)

1( 1) 1(1) 5(0) 1(0) 1(1) 5( 2) ×

− + + + + −⎡ ⎤
= ⎢ ⎥− − + + − + + −⎣ ⎦

2 0 0 0 0 2 2 2

1 1 0 0 1 10 2 9

− + + + − − −⎡ ⎤ ⎡ ⎤
= =⎢ ⎥ ⎢ ⎥+ + + − −⎣ ⎦ ⎣ ⎦

∴������
2 2

2 9

−⎡ ⎤
= ⎢ ⎥− −⎣ ⎦

�������������������������������������������������������������������������

�� = + +OA i j k, = − +AB 3 i 2j k, = + −BC i 2j 2k, = + +CD 2 i j 3k ���� OD 
������
����	
�����

�� OA AB BC CD (OA AB) BC CD+ + + = + + + (OB BC) CD OC CD OD= + + = + = ��������� 

�!�"� OD OA AB BC CD= + + + ( i j k) (3i 2 j k)= + + + − + ( i 2 j 2k) (2 i j 3k)+ + − + + +

k3j2i7 ++=
�������������������������������������������������������������������������

�� k2jc,kjib,k5j4i2a +=++=−+= ������� cba ++ ���������������
���� � !�"#�$
�
�
�����������

���� ���������	�����	 a=2 i+4j 5k, b= i+j+k, c=0 i+j+2k− 	����

a b c+ + (2 i 4 j 5k) ( i j k) (0 i j 2k)= + − + + + + + + 3i 6 j 2k= + −

2 2 2| a b c | 3 6 ( 2)⇒ + + = + + − �� 9 36 4 49 7= + + = =

∴	�!�#$%�	&�'
()	$�*��	
(a b c)

| a b c |

− + +=
+ + 		

(3 i 6 j 2k)

7

− + −=

�������������������������������������������������������������������������

�� �������� �������� 	��������������
����� �� � 
����!�"� #�$��	%� &�� � ��#
�'����()�� ����	
�����

���� a 3i 2j k= − + 	+�����"	,-���./0��1	 n 4i 7 j 4k= + − $�*��#234	#�5��,!	6���	��78
�9

$�:��3��;��	 r .n a .n=

r. (4i 7 j 4k) (3i 2 j k).(4i 7 j 4k)⇒ + − = − + + − 			 12 14 4 6= − − = −

r.(4i 7 j 4k) 6⇒ + − = − r. ( 4i 7j 4k) 6⇒ − − + =
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��
�������-Q

��
1

sin
3

−θ= ������*�� �+���,-� &��.����� �/�0�.������� 1#��� ����	
�����

���� ���������	�����	���θ	5��;8��<�3�	��=&��	��		/>���7? θ	7@��� ∴	θ	∈	�)

�)�/>���7?	 ���θ	�A�B���<�3�	 2cos 1 sinθ = + − θ
2

1 1 2 2
1 1

3 9 3
⎛ ⎞= − − = − =⎜ ⎟⎝ ⎠

�������������������������������������������������������������������������

 �
o

2
o

2

2
1

22sin
2
1

82sin − 23���4�1#���������	
�����

�� �����������	
���������������� �
	���234	��#�$��

o o
2 21 1

sin 82 sin 22
2 2

∴ −
o o o o1 1 1 1

sin(82 22 ).sin(82 22 )
2 2 2 2

= + −

2

3
).º45º60sin(º60sin).º105sin( +== 	

3
(sin 60º cos 45º cos60ºsin 45º )

2
= +

3 3 1 1 1
. .

2 2 22 2

⎛ ⎞
= +⎜ ⎟⎜ ⎟⎝ ⎠ 24

)13(3

22

1

22

3

2

3 +=⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛
+=

�������������������������������������������������������������������������

�	� ����	
��
�����������
	��������
	��#�������	
�����

�� ���������	�����		�����
����	�� �	 2sinh x cosh x 1= −

25 25 25 4 21 21
1 1

2 4 4 4 2

−⎛ ⎞= − = − = = =⎜ ⎟⎝ ⎠

��� 2 2cosh(2x) cosh x sinh x= +
225 21 25 21 46

2 2 4 4

⎛ ⎞⎛ ⎞= + = + =⎜ ⎟⎜ ⎟ ⎜ ⎟⎝ ⎠ ⎝ ⎠ 4

23

2
=

���� sinh(2x) 2sinh x cosh x 2= = 21

2
× 5 5 21

2 2
× =
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−⎡ ⎤
⎢ ⎥−⎢ ⎥
⎢ ⎥−⎣ ⎦

1 2 1

A = 0 1 1

3 1 1
����������������!����� 1#��� ����	
����

��� 2
1 2 1 1 2 1 1 0 3 2 2 1 1 2 1 4 5 4

A A A 0 1 1 0 1 1 0 0 3 0 1 1 0 1 1 3 2 2

3 1 1 3 1 1 3 0 3 6 1 1 3 1 1 6 8 5

− − + + − − − + + −⎡ ⎤ ⎡ ⎤ ⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥= × = − − = + − + + − − = − −⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥− − − + − − − + + −⎣ ⎦ ⎣ ⎦ ⎣ ⎦ ⎣ ⎦

3 2
4 5 4 1 2 1 4 0 12 8 5 4 4 5 4 16 17 13

A A .A 3 2 2 0 1 1 3 0 6 6 2 2 3 2 2 9 10 7

6 8 5 3 1 1 6 0 15 12 8 5 6 8 5 21 25 19

− − + + − − − + + −⎡ ⎤⎡ ⎤ ⎡ ⎤ ⎡ ⎤
⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥= = − − − = − + − + + − − − = − −⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥
⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥− − + + − − − + + −⎣ ⎦⎣ ⎦ ⎣ ⎦ ⎣ ⎦

3 2
16 17 13 4 5 4 1 2 1 1 0 0

A 3A A 3I 9 10 7 3 3 2 2 0 1 1 3 0 1 0

21 25 19 6 8 5 3 1 1 0 0 1

− − −⎡ ⎤ ⎡ ⎤ ⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥∴ − − − = − − − − − − − −⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥− − −⎣ ⎦ ⎣ ⎦ ⎣ ⎦ ⎣ ⎦

16 17 13 12 15 12 1 2 1 3 0 0

9 10 7 9 6 6 0 1 1 0 3 0

21 25 19 18 24 15 3 1 1 0 0 3

− − − −⎡ ⎤ ⎡ ⎤ ⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥= − − + − − − −⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥− − − −⎣ ⎦ ⎣ ⎦ ⎣ ⎦ ⎣ ⎦

16 12 1 3 17 15 2 0 13 12 1 0 0 0 0

9 9 0 0 10 6 1 3 7 6 1 0 0 0 0 O

21 18 3 0 25 24 1 0 19 15 1 3 0 0 0

− − − − + + − − − −⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥= − + + − − − − − + + + = =⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥− − + − + + + − − −⎣ ⎦ ⎣ ⎦

��������	
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��� a, b, c �#�����52����,67�� 2a + 3b - c, a - 2b + 3c, 3a + 4b - 2c, a - 6b + 6c �#��8+9��
����#�	%

	�#��������#��
���52����#:�;��/���<�

���� �!�	C*	+�����"	����	OP 2a 3b c, OQ a 2b 3c= + − = − + �

OR 3a 4b 2c, OS a 6b 6c= + − = − + 	��������� 

PQ OQ OP (a 2b 3c) (2a 3b c) a 5b 4c= − = − + − + − = − − +

PR OR OP (3a 4b 2c) (2a 3b c) a b c= − = + − − + − = + −

PS OS OP (a 6b 6c) (2a 3b c) a 9b 7c= − = − + − + − = − − +

1 5 4

[PQ PR PS] 1 1 1 [a b c]

1 9 7

− −
= −

− −


"�
�#�$����#�
��%��$�
�& ]cba[


"�
����������%��'�&	 ]cba[


"��(��(�& ]cba[


�× ]cba[ 
�

�!�"�	 PS,PR,PQ 	�B�	�'�D�	$�*��#�	$���E&����#�

�!�"�	)�����*	�B�	B�#�,-�	+�����"#�	$���E&����#
	
��1�%�F�5���* 

�������������������������������������������������������������������������

��� − −a = 2 i + 3j + 4k, b = i + j k, c = i j + k ������� ax(bxc) ���	�)=�;�������>2�����

� a !�"�#�$�	%�&�?����:�
�>;���.����

���� ����������	�����		 a 2 i 3 j 4k, b i j k, c i j k= + + = + − = − +

a (b c)× × �	��	�3��,���G234	�	�����G,!	�H8I�()	������ b c× ��	�3��,���7J��

i j k

b x c 1 1 1 i (1 1) j(1 1) k( 1 1)

1 1 1

= − = − − + + − −
−

2 j 2k= − −

∴
i j k

a x (b x c) 2 3 4 i ( 6 8) j( 4 0) k( 4 0)

0 2 2

= = − + − − − + − −
− −

2 i 4 j 4k= + −

K��L�D� a (b c).a (2 i 4 j 4k).(2 i 3 j 4k)× × = + − + +

���������	�	%�(�	�	%�%�	
	%	�	
�	�	
�
�

$�*�M	#5N�	$��B�O	�!�"�		 a (b c)× × 	�234	 a 	#�5�,!	6�O* 
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���
3 7 9 1

1 cos 1 cos 1 cos 1 cos
10 10 10 10 16

π π π π⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞+ + + + =⎜ ⎟⎜ ⎟⎜ ⎟⎜ ⎟⎝ ⎠⎝ ⎠⎝ ⎠⎝ ⎠
�:� :�(�/@�;���<�

��
180º

cos cos cos18º;
10 10

π = = 	
3 3(180º )

cos cos cos54º
10 10

π = =

7 7(180º )
cos cos cos126º cos(180º 54º ) cos54º

10 10

π = = = − = −

9 9(180º )
cos cos cos162º cos(180º 18º ) cos18º

10 10

π = = = − = −

∴+,-,*
	�
����
'.��
����	�%.��
�����%.��
����
'.�
�
�����
'.��
�����	�%.�

2 2 2
2 2 5 1 5 1 5 1 4

sin 18ºsin 54º
4 4 16

⎛ ⎞ ⎛ ⎞− + −⎛ ⎞= = = =⎜ ⎟ ⎜ ⎟ ⎜ ⎟⎜ ⎟ ⎜ ⎟ ⎝ ⎠⎝ ⎠ ⎝ ⎠ 16

2 2 11
164

⎛ ⎞ ⎛ ⎞= =⎜ ⎟ ⎜ ⎟⎝ ⎠⎝ ⎠

	�,-,*

�������������������������������������������������������������������������

��� ����
������
�
����� �
�'����()��23���4��A,B#�������#������

���� ,1 2
2b

tan � ��� �
c + a

�����
−=
+1 2

c a
tan .tan

c a
��:�;��/���<���>2��

C:� ����<�"#$���%����&'#��:� ;��/���<�

���� �����	$�:��3��;��/����θ�0����θ
�

c
tan1

tan2
b

tan1

tan1
a

22

2
=⎟⎟⎠

⎞
⎜⎜⎝

⎛

θ+

θ+⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛

θ+

θ−⇒

��DP	,-�;�!���	F�&��,!Q/�
−�/��θ��0���/�θ�
��
��/��θ�

⇒ /−/�/��θ��0�/�θ
����/��θ ⇒ ��/��θ�/�/��θ−�0�/�θ���−/�
�

⇒ ���/��/��θ−�0�/�θ+��−/�
�

�/�θ��	�/�θ�	#�	R�S	���T	5U�V��*	�'78#�

1 2
2b

tan tan
c a

∴ θ + θ =
+

"���	 2ax bx c 0+ + = ���������	
���
�������
b

a
− ]

1 2
c a

tan .tan ,
c a

−θ θ =
+

"���	 2ax bx c 0+ + = 	�'78#	#5W�
c

a
]

1 2
1 2

1 2

tan tan
tan( )

1 tan tan

θ + θ∴ θ + θ =
− θ θ

2b2b
c ac a

c a
1

c a

++= =
−⎛ ⎞− ⎜ ⎟+⎝ ⎠

c a c+ − a

c a

+
+

2= b

2

b

aa
=
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��� − − −1 1 13 8 36
Sin + Sin = Cos

5 17 85
��:� :�(�/@�;���<�

�� 1 3
Sin

5
− = α 	������	 1 12

Cos
13

− = β

��%&	'( ��)
�)�� 1 36 36
Cos cos( )

85 85
−α + β = ⇒ α + β =

1 3 3 4
Sin sin cos

5 5 5
− = α ⇒ α = ⇒ α =

1 8 8 15
Sin sin cos

17 17 17
− = β ⇒ β = ⇒ β =

4 15 3 8 60 24 36
cos( ) cos cos sin sin

5 17 5 17 85 85

−∴ α + β = α β − α β = × − × = =

�	�
���
�������������

�������������������������������������������������������������������������

�
� ���(�,-�
1 1 3

+ =
a + c b + c a + b + c

�����(��	)�:� ;��/���<�

�� ����������������
1 1 3

a c b c a b c
+ =

+ + + +

(a b c) cb c a c 3 3

(a c)(b c) a b c (a c)(b c) (a b c)

+ + ++ + +⇒ = ⇒ =
+ + + + + + + +

2(a b c) c(a b c) 3(a c)(b c)⇒ + + + + + = + +

2 2 2 2 2(a b c 2ab 2bc 2ca) ca cb c 3ab 3ac 3cb 3c⇒ + + + + + + + + = + + +

2 2 2
2 2 2 a b c

a b c ab 1
ab

+ −⇒ + − = ⇒ =

2 2 2a b c 1 1
cosC cos60º C 60

2ab 2 2

+ −⇒ = ⇒ = = ⇒ = °
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*#+",�1 0∈�	�234	����−���0�
�	"�−��0�&

					
��/�	"��1�→�	*
,-�;	������&���⇒	��/�
0	⇒	�	−��0�
/&

					
0
2��0�		"�	0∈�	�234	2��0�
0	&

�!�"�	���	−�
2��
	
��1�%�F�5���* 

����	�������!���:�;��/��?D

*#+",�1 �1�→�	*
,-�;	������&���	�!�"�	��−�1�→�	23X�.	*
,-�;	������&���	�,-��� 

∴	�	−���	1	�→�

2�1	�→�	�
	���234	��#�$�� 

�	−���		��=&��	2�		�B�	������&�1#234	YZ�	��������	�	�3#��� 

*#+",�1 /∈�	�234	��	−�����/�
�	−�"��/�&

						
	�	−��0�
	/	"��1�→�	*
,-�;	������&���⇒��/�
0⇒	�	−��0�
/	&

							
	2��/� "�/∈�	�234	2��/�
/	&

�	−���
2�	�
	
��1�%�F�5���* 

���������




�
11

�������	
����
����������

�
�
�
�
��

�
��

�	

�

	
��
�������-Q

� � /�>1���� 	�)=�E��	����� 
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����� ( )⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞
⎜ ⎟⎜ ⎟⎜ ⎟ ⎜ ⎟⎝ ⎠⎝ ⎠⎝ ⎠ ⎝ ⎠

2
2

3 5 7 2n +1
1+ 1+ 1+ ............ 1+ = n +1

1 4 9 n
�:��(�J���; 2����<�

�� *���1	 ( )2
2

3 5 7 2n +1
1+ 1+ 1+ ............ 1+ = n +1

1 4 9 n

⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞
⎜ ⎟⎜ ⎟⎜ ⎟ ⎜ ⎟⎝ ⎠⎝ ⎠⎝ ⎠ ⎝ ⎠

�"./����*�
�	&���3[	+,-,*	��
3

1+ 4,
1

= *�
�	&���3[	�-,*	 2(1 1) 4= + =

∴	+-*	
�-*, �!�"�	*�
�	$���\��

�"./,�1		3∈4	�234	*�3�	$���\��	��������� 

( )2
2

3 5 7 2k +1
S(k) 1+ 1+ 1+ ............ 1+ = k +1 .........(1)

1 4 9 k

⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞= ⎜ ⎟⎜ ⎟⎜ ⎟ ⎜ ⎟⎝ ⎠⎝ ⎠⎝ ⎠ ⎝ ⎠

�"./,�1	�3∈4������*�3�
�	���	
���
���������

�
�	������������������ 2

2k 3
1

(k 1)

++
+ �
������� !���"���#$

*�3�
�	%����&�+,-,*	
	 2 2

3 5 7 2k +1 2k + 3
1+ 1+ 1+ ............ 1+ 1+

1 4 9 k (k 1)

⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞⎛ ⎞ ⎜ ⎟⎜ ⎟⎜ ⎟⎜ ⎟ ⎜ ⎟⎜ ⎟⎝ ⎠⎝ ⎠⎝ ⎠ +⎝ ⎠⎝ ⎠

��

2
2

2k 3
(k 1) 1 From(1)

(k 1)

⎛ ⎞++ +⎜ ⎟⎜ ⎟+⎝ ⎠

�
2(k 1)+

2

2

(k 1) 2k 3

(k 1)

+ + +

+
2 2(k 1) 2k 3 k 2k 1 2k 3

⎛ ⎞
⎜ ⎟ = + + + = + + + +
⎜ ⎟
⎝ ⎠

2 2k 4k 4 (k 2)= + + = +
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a b 2c a b

c b c 2a b

c a c a 2b

+ +
+ +

+ +

1 1 2 32a 2b 2c a b ( C C C C )

2a 2b 2c b c 2a b

2a 2b 2c a c a 2b

+ + → + +
= + + + +

+ + + +

�

1 a b

2(a b c) 1 b c 2a b

1 a c a 2b

= + + + +
+ +

2 2 1

3 3 1

1 a b

2(a b c) 0 a b c 0 ( R R R

0 0 a b c R R R )

= + + + + → −
+ + → −

�

2 32(a b c)1[(a b c) 0] 2(a b c) R.H.S= + + + + − = + + =
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3 4 5 x 18

A 2 1 8 , X y ,D 13

5 2 7 z 20

⎡ ⎤ ⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥ ⎢ ⎥= − = =⎢ ⎥ ⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥ ⎢ ⎥−⎣ ⎦ ⎣ ⎦ ⎣ ⎦

∴	�5
6	%����&�;<�=8�	5
���6	
#,����

���>*?�����	����#�4��4�
3 4 5

| A | 2 1 8 3( 7 16) 4(14 40) 5( 4 5) 3(9) 4( 26) 5(1) 27 104 5 136

5 2 7

= − = − + − − + − + = − − + = + + =
−

T

T T

1 8 2 8 2 1

2 7 5 7 5 2
7 16 (14 40) 4 5 9 26 1

4 5 3 5 3 4
AdjA (28 10) (21 25) ( 6 20) 38 4 26

2 7 5 7 5 2
(32 5) (24 10) ( 3 8) 37 14 11

4 5 3 5 3 4

1 8 2 8 2 1

⎡ ⎤− −
+ − +⎢ ⎥− −⎢ ⎥ − + − − − +⎡ ⎤⎢ ⎥ ⎢ ⎥⎢ ⎥= − + − = − + − − − − = − −⎢ ⎥− −⎢ ⎥ ⎢ ⎥+ − − − − − −⎢ ⎥ ⎣ ⎦

⎢ ⎥+ − +⎢ ⎥− −⎣ ⎦

9 38 37

Adj A 26 4 14

1 26 11

−⎡ ⎤
⎢ ⎥⇒ = − −⎢ ⎥
⎢ ⎥−⎣ ⎦

1
9 38 37

Adj A 1
A 26 4 14

| A | 136
1 26 11

−
−⎡ ⎤

⎢ ⎥= = − −⎢ ⎥
⎢ ⎥−⎣ ⎦

1
9 38 37 18 9 18 38 13 37 20

1 1
X A D 26 4 14 13 26 18 4 13 14 20

136 136
1 26 11 20 1 18 26 13 11 20

−
− × − × + ×⎡ ⎤ ⎡ ⎤ ⎡ ⎤

⎢ ⎥ ⎢ ⎥ ⎢ ⎥∴ = = − − = × − × − ×⎢ ⎥ ⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥ ⎢ ⎥− × + × − ×⎣ ⎦ ⎣ ⎦ ⎣ ⎦

408

162 494 740 408
1 1

468 52 280 136
136 136

18 338 220 136

− +⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥= − − = =⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥+ −⎣ ⎦ ⎣ ⎦

136

136

136

136

136

3

1

1

⎡ ⎤
⎢ ⎥
⎢ ⎥ ⎡ ⎤⎢ ⎥ ⎢ ⎥=⎢ ⎥ ⎢ ⎥⎢ ⎥ ⎢ ⎥⎣ ⎦⎢ ⎥
⎢ ⎥
⎢ ⎥⎣ ⎦

x 3

X y 1

z 1

⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥∴ = =⎢ ⎥ ⎢ ⎥
⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦

∴	;<�=8��	�
(�	7

�	8
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OA i 2 j k, OB 4i 3k, OC i 2 j k, OD 2i 4 j 5k= − − = − = + − = − −

���	AB �
����������������������	������	 Rt,btar ∈+= �� ��!"#

a OA i 2 j k= = − − 	:	 b AB OB OA (4 i 3k) ( i 2 j k) 3i 2 j 2k= = − = − − − − = + −
����

����CD 	
����������������������	������� Rs,dscr ∈+= �	 ��!"#

c OC i 2 j k= = + − /�;	 d CD OD OC (2 i 4 j 5k) ( i 2 j k) i 6 j 4k= = − = − − − + − = − −

�$
�%� j4)kj2i()kj2i(ca −=−+−−−=−

)218(k)212(j)128(i

461

223

kji

db −−++−−−−=
−−
−=× 20 i 10 j 20k= − + −

 &��'"#		�	(a c).(b d) ( 4 j).( 20 i 10 j 20k) 4(10) 40− × = − − + − =− =−


	()�* 2 2 2| b d | ( 20) 10 ( 20) 400 100 400 900 30× = − + + − = + + = =

∴		��+,�-���.���	�*6�		
	
| (a c).(b d) | | 40 | 40

| b d | 30

− × −= =
× 30

4

3
= )�/+0	1

�������������������������������������������������������������������������

��� ������(���� ��*%+�,� �(���-.�� − A B C
cosA + cosB - cosC = 1 + 4cos .cos .sin

2 2 2

��������/	��	
��

���� ����9	"��67@=A�B��C/��D��	����9

'�.	
A B C A B C

90º 90º
2 2 2

+ + +⇒ = ⇒ = −

+,-,*	
A B A B

(cosA cosB) cosC 2cos .cos cosC
2 2

+ −= + − = − 	"	���9����6	��E6�	4���4*F&

o C A B
2cos 90 .cos cosC

2 2

−⎛ ⎞= − −⎜ ⎟⎝ ⎠
2C A B C

2sin .cos 1 2sin
2 2 2

− ⎛ ⎞= − −⎜ ⎟⎝ ⎠
				

2cos 1 2sin
2

θ⎡ ⎤θ = −⎢ ⎥⎣ ⎦
�

2C A B C
1 2sin .cos 2sin

2 2 2

−= − + +
C A B C

1 2sin cos sin
2 2 2

−⎛ ⎞= − + +⎜ ⎟⎝ ⎠

oC A B A B
1 2sin cos sin 90

2 2 2

⎡ ⎤− +⎛ ⎞= − + + −⎜ ⎟⎢ ⎥⎝ ⎠⎣ ⎦
	

C A B A B
1 2sin cos cos

2 2 2

− +⎛ ⎞= − + +⎜ ⎟⎝ ⎠

C A B
1 2sin 2cos .cos

2 2 2
⎛ ⎞= − + ⎜ ⎟⎝ ⎠

[ cos(A B) cos(A B) 2cosAcosB]+ + − =�

A B C
1 4cos .cos .sin R.H.S

2 2 2
= − + =
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2 2 2

2 2 2 2 2
1 2 3

1 1 1 1 a + b + c
+ + + =

r r r r
��������	
��

��
2222

2
3

2
2

2
1

2

csbsass

r

1

r

1

r

1

r

1
S.H.L ⎟

⎠
⎞⎜

⎝
⎛

Δ
−+⎟

⎠
⎞⎜

⎝
⎛

Δ
−+⎟

⎠
⎞⎜

⎝
⎛

Δ
−+⎟

⎠
⎞⎜

⎝
⎛

Δ
=+++=

( )2 2 2 2 2 2 2 2 2 2 2
2 2

1 1
s (s a) (s b) (s c) (s (s 2as a ) (s 2bs b ) (s 2sc c ))= + − + − + − = + − + + − + + − +

Δ Δ

2 2 2 2 2 2 2 2
2 2

1 1
(4s 2s(a b c) a b c ) (4s 2s(2s) a b c )= − + + + + + = − + + +

Δ Δ

2 2 2

2

(a b c )
R.H.S

+ += =
Δ
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